1. Mention and explain different types of power electronic converters. Draw their output/input
characteristics.
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2. What are the peripheral effects of power electronic components and mention its remedies
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3. Whatis power Electronics? Draw a neat block diagram of generalized power

converter system and explain
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4. The BJT is specified to have B in the range of 8 to 40. The load resistance Rc = 11Q. The dc supply
voltage is Vcc =200V and the input voltage to the base circuit is Vg =10V. If Vce(sat) =1.0V and Vge(sat)
=1.5V. Find

a. The value of Rg that results in saturation with a overdrive factor of 5.
b. The forced B+

c. The power loss P T in the transistor.
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5. For V=100V, Vg =10V, Rg = 0.8Q, Rc = 12Q, Vce(sat) =1.0V, Vee(sat) =1.5V and =10 Find
a) The forced B¢
b) ODF
c) Power Loss
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